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3 point problems EN byl Bl 1 Y
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What is the sum of the numbers covered by kangaroos?

(A) 20 | (B) 50 | (C) 100 | (E) 130 | (D) 110

¢ O e gl CaSdisae oSG sty s dsl OF b ST e JUibl ey olsT 12 O e as

There are 12 books on a shelf and fourchildreninaroom. How many books will be?

(A) 12 | (B)'8 | (€)2 | (E) 0 | (D)2

ST W AL ) A sae oL e ) B mose g ST R e il e ST 3G Y g

The rabbitis sittinginthe right bottom corner of the maze. How many carrots can eat arabbit
walkinginthis maze?

(A)7 | (B) 8 | (C)9 | (E) 16 | (D) 15

¢ oz Lol el ol =5 55 Y1 sie oS 5l S 5 ol g B s s

wlpt by 02 H(D) | oly sl @0 (B) | op23500520 (C) | iy 521 3(B) | 2135 3,4) 3(A)

Kasiahasthree sisters and three brothers. How manybrothers and how many sisters herbrother
Mike has?

(A)3 brothers (B) 3 brothers (C) 2 brothers (E) 2 brothers (D) 3 brothers
and 3 sisters and 4 sisters and 3 sisters and 4 sisters and 2 sisters
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At70’clockinthe morningTomhas breakfast. His dinneris 11 hours later. What time isTom’s
dinner?
(A)4PM | (B)6PM | (c)8PM | (D)10PM | (E)11 PM
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Itis 100’clock in the morning nowandan hour has passed since Ann started her three- hourtrain
ride. What time will the ride end?

(A)3pm | (B)2pmM | (©)ipm | (D)12PM | (E)11 AM

€0 By, B e B s it sda o 6

Whichof the dresses haslessthan7 butnot lessthan 6 dots?
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13 (E) | 23(D) | 14 (C) | 15 (B) | 20 (A)

Math Kangaroo 2013 ison March 21, 2013 and itis alwaysin March. Adamis 7 years old. His
birthdayisin February.How old will Adam be in Math Kangaroo 2020?

(A) 20 years old | (B) 15 years old | (C) 14 years old | (D) 13 years old | (E) 23 years old

763 s tall lislas e 6L Ll < B0 o g 5ol 0K 30U ail 13 Ly L S
PN

| am a number. If you add me to 30, you will geta numberlessthan 60. If you count by tensyou
will say my name.| am not ten. Who am |?

(A) 20 | (B) 30 | (C) 40 | (D) 50 | (E) 60
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What number goes onthe stone closestto the house?
(A) 13 | (B) 15 | (C) 16 | (D) 19 | (F)20
?Wa;}ﬁs;hsﬂw\w\@u.Jubizsyb,&M\gu%gwdjwm 11
HEIRIES
o] oe] 00| 00| 00
This table shows the favorite toys of a group of children. Which toy was the favorite of
the most children?
‘f - LW
Y £
':}5 AR
(A) (B)
12

Where is Barb?

(A) (B) (C)
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InLondon 2012 USAwonthe mostmedals: 46gold, 29silverand29bronze. Howmany medals won
USAaltogether?
(A) 94 | (B)98 | (C) 104 | (D) 108 | (E)114
¢ bl a Ll dad - 1nd 2bD o7 L S Ay e SO e sae JU K2 3| 14
A path is paved with square tiles. How many tiles fitin the area
inside?
(A)5 | (B) 6 | @7 | | D)8 | (E)9
S e sl 15
.Whichis the next?
(A) (B) (C) (D) (E)
16
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Ann has twelve tiles: _\\ She makes one wire with these tiles. Ann starts at the left
side. Which tile comes at the end of the arrow?

N S - ;_\ (E) this is
(A) (B) ©) (D) impossible
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The digits of the number 9145 are arranged indescending order and then inascending
order. The difference between the resulting numbers is:

(E)4726 | (D)8082 |  (C) 8182 |  (B)8192 | (A)3726

17
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Masha has 2 brothers and 2 sisters in her family. How many children are there in this
family?

(E) 6 | (D) 5 | (C)4 | (B) 3 | (A2

18
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In the following figures white, grey and black kangaroes are represented. In what figure

the number of black kangaroos is greater than the number of white ones?
|

P i g e ot . e 0
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7|19 |9 raltsiica N el
SN o ad - auin- s Nl n-adn- aufn aulin s ot

(A) (B) © (D) | (E)

19
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Annalikesto play with herdoll and its clothes. If she has four different sweaters and two
different skirts, in how many different ways can Annadress herdoll?

(E) 10 | (D) 8 | (C) 6 | (B) 4 | (A) 2

20
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One litre of water weighs 1000 grams. What object contains 100 grams of water?

(A) a glass | (B) a jug | (C) a bucket | (D) a barrel | (E) a tank

21
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The rectangular mirror was brokeninto some pieces. Which of the following pieces is

(A) (B) (©€) (D) (E)

22
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Gaby baked a wonderful cake as a birthday present for Lotta. It looks like awoman. Lotta cuts
a big piece. Whichone?

Y

L

& & &

(4) (B) (©) (D)

(E)

23
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Theo’s aunt baked cookies which are formed like digits (see picture). Which digits are missing?

(E) 7and 1 | (D)6and 9 | (C)2and O | (B) 4 and 8 |(A)3and5

24

10
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When leaving for school today Flora was given by her mother 3 small apples each for Paul,
Helen, Jim and herself. How many apples are this altogether?

()12 | (D) 9 | (C)8 | (B) 6 | (A) 4

25
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The radius of acircleisincreased by120%, then the area of thecircleis increased by:

(E)394% | (D)384% | (C)360% | (B)240% | (A)120%

26
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A zoo had a baby-boom: three lion cubs, two dolphins and four eaglets were born. How many
more legs does the zoo count now?

(E) 16 | (D) 18 | (C) 20 | (B) 22 | (A) 24

27
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Fatherhas bought5 apples foreach of his fourchildren. Karlo has given two applesto Ana, Ana
has giventhree applesto Sanjaand Sanja has given a half of her applesto Mihael. How many
apples has Mihael got?

(E)9 | (D) 8 | (C) 7 | (B) 6 | (A) 5

28

11
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caterpillar

29

(E) e3¢

(D) 12 (C)10 (B)9 (A) 8

A twoinch long caterpillar has reached the shortest side of abrick that is 2 inches tall, 3inches
wide, and 6incheslong. Itlies onthe ground, perpendicularto the brick, as showninthe
picture. The longest side of the brick faces the ground. Without changingits direction, atleast

how many inches does the caterpillar have to crawl in orderto completely cross to the opposite
side of the brick?

(E) Different
answer

(A) 8 (B)9 (C) 10 (D) 12

S o ol S o $B)5 00 T 52 585 U8 0T Y Lol dipaiigiy <65 5585 e pa
C5,a 50 3 5aV sae oS5 sl Gone 58 LS <) 8 ph de g sl

Red Thorn

Donkey collected blue flowers withred thorns. He noticedthat each flower had 7blue petals

around its centerand between any twoneighboring petals there was ablue thorn, as shownin
the picture. How many thorns did the flower have?

(E) 8 | (D) 7 | (C)6 |

(B) 2 | (A) 3

30
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How many more bricks are on the larger stack?

()10 | (D) 7 | (C)6 | (B) 5 | (A) 4

31

12
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At the park students needto plant 20 trees. They can plant5 treesin 10 minutes and started at
9 inthe morning. At what time will they finish with planting all 20trees?

M Ty ¢ BB i 3 il i A8) 5 ) g0 gk Co Rl (36 b 0y e p ) OOl s 32
€ il 3y O 5Sm 1S6 L Ll Bl 28L1 3 389 L

(1000 | (D)9:50 | (€)9:40 | (B)9:20 | (A)9:10

oOoEae
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(E) 3 ¢~ 54 (D) 2.5 ¢~ 45 (C) 2 ¢ 5k (B) 1.5 ¢~ 5is (A) 1o 5k

George has 2 cats of the same weight. Whatis the weight of one cat if George weighs 25
pounds?

(A)1 pound | (B) 1.5 pounds | (C) 2 pounds | (D) 2.5 pounds | (E) 3 pounds

DI ol ) o) ) Sl e (8
p 2o 2
O-9@
@-¢0¢
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§ Lele o ol Ayl sae oSS W) 4 Wizl 31T15) 6 2eS a6 23T (s

In the game it is possible to make the following ( T) exchanges:

Adam has 6 pears. How many strawberries willAdam have, when he trades all his pears only for
strawberries?

(E) 6 | (D) 24 | (C) 18 | (B) 36 | (A) 12

34

13
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Josephisoneyearold. His fatheris 30 years olderthan Joseph. His motheris three years
youngerthan his father. How oldis Joseph’s mother?

35

(E) 27 | (D) 28 | (C) 29 | (B) 30 | (A) 31
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Flower Street

]
=
(2}
o
=
=

Bush Street

Bird Street

36

(E) &5 no (D) 20 (C) 16 (B) 12 (A) 8

Thereisa blue house on each corner of the streets. There are 2 yellow houses oneach street
between the cornerhouses. How many houses are thereinall?

A) 8 | (B) 12 | (C) 16 | (D) 20 | (E) Other answer

Mcﬁick}wﬁ c#icwicﬁitww\l@#\éﬁw\ %A\Q\SOM\MFE
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Brandon organizes his smiley face stickers in the following way: white, yellow, green, orange,

red, purple, and again: white, yellow, green, orange, red, purple, etc. Which sticker
will be the 21stin arow?

&

(A)

©

(B)

©)

(D)

37

Annhasa lotofthese
cellsshall beleft empty?

?&JUOJQMR&@.QU‘G}\ & e OTJ;.JJ)« [

She triesto puttheminthesquare, as many as possible. How many

(E) 4 |

(D)3

(C) 2

(B) 1

38

(A) O

14



€laphly Gagall ally g jajmliae cllall dunga

()’/
X/

aungo

39

?ﬁjuaﬁwé.gu‘@;\@wou;j‘ C;zu\mwa;}&sﬂi&n

Annhas a lot of these Ijz She triesto put themin the square, as many as possible. How
many cells shall be leftempty?

39

(E) 4 | (D) 3 | (C)2 I (B) 1 | (A) 0

¢ uJ\J\:-T ;\.:T A rg.% ¢ J‘J\:-T a&J)T) J.UU ;LL‘"T L.SV\-S

Ann has two parents and four grandparents. How many great-grandparents she has?

40

(E) 12 | (D) 10 | (C) 8 | (B) 6 | (A) 4

JS7 G 56 O medares 2l Lol sty 3O 5548 ST (3 et OF LN ket ¢ o) 52 0 ey S g ka3
¢ e il e dadl S WOy (T das L b 5548

41

Cat and Mouse are movingtothe right. When Mouse jumps 1 tile, Catjumps two tiles. At which
tile Cat catches Mouse?

(E) 5 I (D) 4 | (C)3 I (B) 2 | (A) 1

D sla U sue 3 sh Bobe ) I sue

42

There are more white than grey cells. How much more?

(E) 18 | (D) 17 | (C) 16 | (B) 9 | (A) 8

15
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(D) ©) = @ Y

Which are the most?

72
%

(E) ) allequal

(A) (B) - © (D)

¢ SVa-Ldl sl | 44
Which area is the biggest?

N
C0 |l IRNERN
AN 4

E) (D} (©) B) @)
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A cakeis divided into 12 parts. Albertand Ben eateach 2 parts, Chrisand Dee eat each 3 parts.
How many parts remain?

(E) 4 | (D) 3 | (C) 2 | (B) 1 | (A) O

¢ Al el sl sl ol | 46

How does the row of circles continue?

\ ’ w \ [
! ) 4 \ o W ]
{ I | y s
b A ! L] i - " -

(E) (D) (C) (B)

(A)

16
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(A) (B) (C) (D)

Annseesa buildingfromthe frontside likeinthe picture. Whatdoesshe see from the back
side?

Hﬁ T T
(T 1] ] f: HA

(D) (€) (B) (A)

(E)

something else

47
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When Pinocchio lies, his nose gets 6cm longer. When he says the truth, the nose gets2 cm

shorter. When his nose was 9 cm long, he said one lie and one true sentence. How long was
Pinocchio’s nose afterwards?

(E) 17 cm | (D) 13 cm | (C)9cm | (B)5cm | (A) 4 cm

48
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Petergotso enthusiasticabout watching the Olympics that he built the winners podium (asin
the picture) at home. How many cubes did he needforit?

(E) 24 | (D) 22 | (C) 18 |  (B)16 | (AR

49

o1

How many legs do one rooster, two sheep, three Cows, four ducks and five snakes have together

(E) 50 | (D) 40 | (C) 30 | (B) 20 | (A) 15

50

17
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There are 5 childrenin Kitty family.Kitty is 2years olderthen hersister Betty, but 2 years
youngerthenherbrother Dannie. Teddyis 3years olderthen Annie. Bettyand Annie are twins.
Who of themis mostolder?

(A) Annie | (B) Betty | (C) Dannie | (D) Kitty | (E) Teddy

ol
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Johnis organizing his photosinanalbum. He holds each photo using fourstickers. If he wants to
put 6 photos in each of the 50 pages of his album, how many boxes, with 50 stickers each, he
will needto buy?

()50 | (@30 | (©24 | (B) 6 | (A) 4

52
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A cat eats two mice per day. How many mice do iteat intwo weeks?

()28 = | ()21 [0 (C) 14 | (B)7 e

53
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(E) 6 i ) 3toYL 2 | (D) 5 s J oYL 3 | (C) 4 G Qi BUYL 4 | (B) 3 in Jy oYL 5 | (A) 2 G 1l BLEYL 6

Which of these five numbers is the largest?

(C) 4 plus the (B) 5 plus the (A) 6 plus the (E) 2 plus the (D) 3 plus the
double of 4 double of 3 double of 2 double of 6 double of 5

54
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Maja makes paper butterflies. She has made 4 of them on Monday. On Tuesday she has made

three times more and on Wednesday she has made four times more than on Monday. How
many butterflies has she made all together?

(E) 42 | (D) 32 | (C) 30 | (B) 22 | (A) 19

55
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A pansy has got 5 petals and a snowdrop has 3 petals. How many petals have 6 pansiesand 7
snowdrops gottogether?

(E) 54 | (D) 51 | (C) 46 | (B) 41 | (A) 35

56

18
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There are 19girls andtwelve boys playingon the school playground. How many childrenwould have
tojointhemsotheyallcouldbe divided into6equal groups?

()5 | (D4 | (93 | (B)2 | (A2

57
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